Algebra 1 Name

Linear Inequalities and Systems of Inequalities Study Guide
Solve each system by graphing.

1) 6y -24=3x 2) -y=4-2x
y-1l=-x 4-2x=-y
y Ay
5 1 B L 4 } X 5 1 B b 4
s A
(-2,3) Infinite number of solutions
3) -4-2x=-2y 4) 3-3y-x=0
-y -2=-5x 9=-3y-x
y o Ay
: ~ :
/ ~
< 1/ N < [ N
5 b B / 1 X 5 4 B3 2 4 . x
: =
. ~
7 S
7= —‘;
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Sketch the graph of each linear inequality.
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Werite the linear inequality for the given graph.
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Sketch the solution to each system of inequalities.
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Using the graphs to answer the questions.

21) Which of the following is not a solution to
the given inequality?
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A) (-6,2) *B) (6,2)
C) (-2,6) D) (2,6)

23) Which of the following is a solution to the
given system of inequality?
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22) Which of the following is a solution to the
given inequality?
A

/ y
~ 0
I |
N
N
N
~
B | 4| L 2 | » X
- T
R
A) (39'5) B) (23'2)
*C) (3,5) D) (-2,2)

24) Which of the following is a solution to the
given system of inequality?
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